

Lösungen

Aufgabe 1

$$a) f'(x) = \underbrace{x}_u \cdot \underbrace{3 \cos\left(\frac{x}{3}\right)^2 \cdot \left(-\sin\left(\frac{x}{3}\right) \cdot \frac{1}{3}\right)}_{v'} + \underbrace{1}_{u'} \cdot \underbrace{\cos\left(\frac{x}{3}\right)^3}_v$$

$$b) f'(x) = \frac{\overbrace{(4+x^2)}^v \cdot \overbrace{e^{4x}}^{u'} \cdot \overbrace{4}^u - \overbrace{e^{4x}}^u \cdot \overbrace{2x}^{v'}}{\underbrace{(4+x^2)^2}_{u^2}}$$

$$c) f'(x) = \underbrace{\frac{4 \cdot (\ln(4x^2 + 1))^3}{(\ln(10))^4}}_{\text{äußere Ableitung}} \cdot \underbrace{\frac{1}{4x^2 + 1}}_1 \cdot \underbrace{\frac{8x}{2}}_{\text{innere Ableitungen}}$$

Aufgabe 2

$$a) I = \underbrace{x}_v \cdot \underbrace{(-\cos(x))}_u + C_1 - \int \underbrace{1}_{v'} \cdot \underbrace{(-\cos(x))}_u dx = -x \cdot \cos(x) + \sin(x) + C$$

$$b) I = \left(\frac{1}{3}x^2 - \frac{2}{9}x + \frac{2}{27}\right) \cdot e^{3x} + C \quad (\text{zweifache, partielle Integration!})$$

c) Integration durch Substitution!

$$z = x^2 + 1 \quad \rightarrow \quad \frac{dz}{dx} = 2x \quad \rightarrow \quad x \cdot dx = \frac{1}{2} dz$$

$$\Rightarrow I = x \cdot \arctan(x) + C_1 - \int \frac{1}{z} \cdot \frac{1}{2} dz = x \cdot \arctan(x) - \frac{1}{2} \ln(|z|) + C_2$$

$$\Rightarrow I = x \cdot \arctan(x) - \frac{1}{2} \ln(x^2 + 1) + C \quad (\text{Betrag beim ln überflüssig, da } x^2 \text{ stets positiv!})$$

Aufgabe 3

$$a) u = -6 - 2i \quad b) v = -12 - 18i \quad c) \left(-\frac{28}{5} + \sqrt{3} + \sqrt{\frac{9}{2}}\right) + i \cdot \left(\frac{6}{25} - 1 + \sqrt{\frac{9}{2}}\right)$$